































































































Alternative method - 3

$$F = U - TS = \sum_{j} N_{j}E_{j} - k_{B}T \ln \prod_{j} \frac{S_{j}!}{N_{j}!(S_{j} - N_{j})!} = \sum_{j} N_{j}E_{j} - k_{B}T \sum_{j} \left[\ln S_{j}! - \ln N_{j}! - \ln \left(S_{j} - N_{j}\right)! \right]$$

$$\ln N! \approx N \ln N - N \qquad \text{Stirling's approximation (large N)}$$

$$F = \sum_{j} N_{j}E_{j} - k_{B}T \sum_{j} \left[S_{j} \ln S_{j} - N_{j} \ln N_{j} - \left(S_{j} - N_{j}\right) \ln \left(S_{j} - N_{j}\right) \right]$$

$$\begin{array}{l} \textbf{Alternative method} - \textbf{4} \\ \textbf{Chemical potential:} \\ \mu &= \frac{\partial F}{\partial N_i} = E_i - k_B T \frac{\partial}{\partial N_i} \Big[-N_i \ln N_i - (S_i - N_i) \ln (S_i - N_i) \Big] = \\ &= E_i - k_B T \Big[-\ln N_i - 1 + \ln (S_i - N_i) + 1 \Big] = E_i - k_B T \ln \Big(\frac{S_i}{N_i} - 1 \Big) \\ \textbf{Relation with the occupancy of the available states:} \\ &= \frac{E_i - \mu}{k_B T} = \ln \Big(\frac{S_i}{N_i} - 1 \Big) \implies \exp \Big(\frac{E_i - \mu}{k_B T} \Big) = \frac{S_i}{N_i} - 1 \\ \textbf{Fermi-Dirac probability distribution function (pdf):} \\ &\int f\Big(E_i \Big) = \frac{N_i}{S_i} = \Big[1 + \exp \Big(\frac{E_i - \mu}{k_B T} \Big) \Big]^{-1} = \frac{1}{1 + \exp \Big(\frac{E_i - \mu}{k_B T} \Big)} \quad \text{``Fermi energy'':} \\ &\mu(T = 0K) = E_F \end{array}$$

















L.Lanceri - Complementi di Fisica

Maximization procedure to find N_i/S_i

• Take the logarithm, use Stirling's approximation, and set the differential to zero (*S_i* are constant, *N_i* variable):

$$\ln W = \sum_{i} \left(\ln S_{i}! - \ln(S_{i} - N_{i})! - \ln N_{i}! \right)$$

$$\ln x! \approx x \ln x - x \qquad (x \text{ large})$$

$$\ln W \approx \sum_{i} \left[S_{i} \ln S_{i} - S_{i} - (S_{i} - N_{i}) \ln(S_{i} - N_{i}) + (S_{i} - N_{i}) - N_{i} \ln N_{i} + N_{i} \right]$$

$$= \sum_{i} \left[S_{i} \ln S_{i} - (S_{i} - N_{i}) \ln(S_{i} - N_{i}) - N_{i} \ln N_{i} \right]$$

$$d(\ln W) = \sum_{i} \frac{\partial(\ln W)}{\partial N_{i}} dN_{i}$$

$$= \sum_{i} \left[\ln(S_{i} - N_{i}) + 1 - \ln N_{i} - 1 \right] dN_{i}$$

$$= \sum_{i} \ln(S_{i}/N_{i} - 1) dN_{i} = 0$$

 $\begin{aligned} & \mathcal{L}action Constraints: Lagrange multipliers \\ & \mathcal{L}(\ln W) = 0. \Rightarrow \sum_{i} \ln(S_i/N_i - 1)dN_i = 0 \\ & \sum_{i} N_i = N. \Rightarrow \sum_{i} dN_i = 0 \\ & \sum_{i} E_i N_i = E_{TOT}. \Rightarrow \sum_{i} E_i dN_i = 0 \end{aligned}$ Introducing the undetermined Lagrange multipliers α and β : $\begin{aligned} & \sum_{i} \left[\ln(S_i/N_i - 1) - \alpha - \beta E_i \right] dN_i = 0 \\ & \ln(S_i/N_i - 1) - \alpha - \beta E_i = 0 \\ & S_i/N_i - 1 = e^{\alpha + \beta E_i} \end{aligned}$ $f(E_i) = \frac{N_i}{S_i} = \frac{1}{1 + e^{\alpha + \beta E_i}} \Rightarrow \begin{aligned} & f(E) = \frac{1}{1 + e^{\alpha + \beta E}} \end{aligned}$ For closely spaced levels, $E_i \to E \end{aligned}$

